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Mark Scheme

Paper 1
Answer 1
Indicative content General Guidance
Population growthincreases: « Thecommandword explain’ means

to givereasons why increased
economic growth might affectrates
of population growth

e Your answer should give at least two
reasons that economic growth can
lead to changesin population
growth rates and these answers
should be explained

e Falling/lowdeathrates /lessdie

e Longer life expectancy

¢ Fallinginfant mortality / more babies survive

e Better medicines/hospitals

s |mproveddiets/accesstomore nutritious foods

o Betteraccessto cleanwater

» Betteraccessto sanitation

» Bettereducation

e Betterjob opportunities / higher pay attracts
more migrants

Population growth slows:

Falling birthrates /less babies born
Children no longer needed for labour
Betteraccess to contraception

More education about family planning

Model Answer Commentary

Increased economic growth canleadto Marks 5/5
lower population growth because people
start to have fewer children[1] as infant
mortality decreases [1] and children are no
longer needed to work on the family farm [1].
It can also lead to higher population growth
as people live longer[l] due to better
medical care [1].

e Thisis one possible way to answer this
question - your answer does not havetobe
exactly the same

e This answerincludes two reasons for
population change and then developed
answers to explain how these are linked to
economic growth

For more help visit our website https://www.exampaperspractice.co.uk/
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Answer 2
(i)
|deas such as:

Due to changesinBR and DR/growth occurs when BR is higher than DR/decrease occurs when
DR is higher than BR[1]

s Aftertheimpact of changesinbirth and deathrates are identified it needs to be supported
with evidence from the graph

Stage 1small changes in DR while BR remains the same/both DR and BR stay the same/high BR
and DR 1]

Stage 2 BR stays same but DR falls/BR higherthanDRT1]

Stage 3BRfalls but DR stays the same [1]

Stage 4 DR stays the same but small changesinBR/both DR and BR stay the same/low BR and
DR [1]

For more help visit our website https://www.exampaperspractice.co.uk/
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e Answerneedsto state when growth and decrease of population occurs. This will gain 1
mark the additional marks will be gained by stating what happens to the birth and death
ratesinthe different stages

¢ To achieve fullmarks the answer needs to make links between the birth rate (BR) and death
rate (DR)

e Nomarks will be awarded forreasons for the changes

{ii)
ldeas such as:

Lack of /don't use/cannot afford contraception[l]

Lack of education about contraception/about problems of large families [1]

Children needed for work/to earn money/for farming:needed to look after elderly/no pensions
[1]

Children needed to do household chores or examples - fetching wood/water, cleaning house,
looking after younger children [1]

Traditional views about large families/polygamy/families want a male child [1]
Religious/cultural views on contraception/abortion/family size [1]

Highinfant mortality/they have more babies so some will survive [1]

Early marriages/teenage pregnancy [i}

Lack of emancipation for women/women don't have careers/lack of education forwomen [1]
No access to abortion [1]

s [tisimportantinthis answerto ensure that the reasons you give are for LEDCs and not
MEDCs

e This canbe answered as four separate points

* Make sure thatideas are notrepeated, for example family planning is regarded as the same
as contraceptionin the mark scheme so if you write about both you will only get 1 mark

For more help visit our website https://www.exampaperspractice.co.uk/
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Answer 3

(i)

Any four fromideas such as:

Government restricted family size/restricted number of children by the use of two-child
limit [1]

People fined/hadland taken off them/lost income if they did not follow the palicy [1]
Contraception/abortions made available or made cheaper[1]

Campaigns for people to use contraception/abortions [1]

People concentrating on careers [1]

Education of women [1]

Education about family planning [1]

Latermarriages [1]

Improvement of infant healthcare/lowerInfant Mortality Rate (IMR) [1]

Pensions[1]

Mechanisation of farms/less agriculturalwork/more emphasis on secondary and tertiary
sector [1]

s Althoughthereis someinformationin the sources youwill be reliant on your knowledge of

the impact of population policiesto achieve full marks for this question

e Ensure that only strategies which willdecrease birthrates are included - anti-natalist

policies

For more help visit our website https://www.exampaperspractice.co.uk/
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(ii)  Anyfive fromideassuchas:

They have fallen below replacement level/population decline/death rates higher than
birthrates[1]
Shortage of workers/shortage of working class/no one to care for the elderly/ shortage of
people to exploit the resources[1]
Low level of production/businesses fail [1]
Difficult to defend country [1]
Ageing population/increase in elderly people/lots of old dependents [1]
Lack of innovation [1]
Closure of schools/nurseries [1]
Need toraise more taxes/fewer tax payers/burden on economically active [1]
MNeed to pay more pensions/provide more care homes/provide healthcare for the elderly
[1]
Economic decline/reduces the economy/lesseconomically active [1]
Need to encourage migration [1]

¢ [tisimportantinthis answerto ensurethatitisenlyissuesfacing MEDCs

s Asbirthrates fallin countries such asltaly and Japan the number of children and then

working age population decreases, whereas the number of retired people increases
¢ Thisis happeningin MEDCs where life expectancy is higher exacerbating the issue

For more help visit our website https://www.exampaperspractice.co.uk/
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Answer 4

|deas such as:

Low use/lack of /lack of access to contraception/cannot afford contraception/family planning
[1]

Lack of knowledge of/information about contraception/impacts of large families [1]
Religious issues which encourage large families/object to use of contraceptives[1]
Traditionally people want male heirs [1]

Children are often used to work in fields/send out to work from a young age/work in family
business/at home/economic assets[1]

Childrenlook after elderly relatives/no pensions available [1]

High infant mortality rate/many people have more babies in case other children do not survive
[1]

Women not educated/don’t have careers [1]

Emancipation/womens rights [1]

Polygamy [1]

e [tisimportantinthis answerto ensurgthatthereasonsyougive are for LEDCs and not
MEDCs

e This canbe answered with five separate points

+« Make sure that ideas are not repeatad, forexample family planningisregardéd asthe same
as contraceptioninthe mark scheme soif you Write about both youwill only get Tmark

For more help visit our website https://www.exampaperspractice.co.uk/
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Answer 5

ldeas such as:

Less births/reductioninbirth rate [1]

Use/access to/can afford contraception[1]

People more educated about using contraception/family planning [1]
People have career/more women will be educated [1]
Children are expensive [1]

Government policy to reduce birth rate [1]

More deaths/increaseindeathrate[1]

Obesity/heart disease [1]

Drug cartels/murder [1]

Alcohol related deaths [1]

AIDS/HIVT]

War/civilwar [1]

e The focus of this questionis natural grewthsatewhiehimeans that factors which affect the
birthrate and deathrate need to beincluded

¢ The questionis asking specificallgabout natural population growth rate in Mexico this
means that factors referring to high deathrate such as lack of hospitals/sanitation or
uncleanwatar will not be awarded.maks

Answer 6

ldeas such as:

Rapid population growth [1]

High/increasing birthrates [1]

Lack of contraception/knowledge about contraception/cannot afford
contraception/religions discourage use of contraception [1]

People want children to help inthe home/look after siblings/to fetch water/collect wood [1]
Or to go out and earn money/to work/for labour/work on farms [1]

Or to look after them/take care of theminold age [1]

Tradition/cultural reasons/religious beliefs for large family [1]

Women not working/do not have careers [1]

For more help visit our website https://www.exampaperspractice.co.uk/
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High infant mortality [1] which leads people to have more children increasing population growth
[Dev]

Early marriage [1]

Lack of abortion[1]

Falling death rates/longer life expectancy [1]

Improving health care/more doctors/more medicines [1]

Better water supply/sanitation [1]

Better food supply/diet [1] which reduces the deathrate and increases population growth [Dev]
Positive net migration/large amounts/more of immigration [1]

Few mineral deposits/wood/fuel [1]

Mineral deposits/wood/fuel becoming exhausted/running outiAridity/lack of water/low rainfall
[1]

Poor soils/low crop yields [1] which means thereis a shortage of food to feed the population
[Dev]

Lack of land to farm [1]

* Answers to this question can eitherbe five separate points or a couple of points which are
developed [Dev]

» The answers canfocus onfactors which increase the population, increasing the pressure
onresourgas and/for the lack'of resousc es both.of whichllead taoverpopulation

Answer 7

ldeas such as:

Lack of housing/squatter settlements/homeless [1]

Unemployment/no work/low pay/exploitation [1]

Pressure on/lack of health care/hospitals etc [1]

Pressure on/lack of education/schools [1]

Inadequate (clean) water supply [11 which leads to the spread of disease [Dev]
Power cuts/outages/not enough electricity [1]

For more help visit our website https://www.exampaperspractice.co.uk/
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Traffic congestion/lots of traffic [1] which leads to increased air pollution [Dev]
Air pollution/water pollution [1]

Lack of food/famine [1]

Poverty [1] which leads to poor diet/housing [Dev]

Poor sanitation/hygiene/lack of toilets [1]

Specified crime [1]

People live close together spreading disease/so hard to control disease [1]
Lack of recreational areas [1]

Specifiedimpact on surrounding natural environment, e.g. deforestation, loss of habitat, etc.
[MAXT]

¢ This guestion can be answered either as 5 single points orpoints which are then developed
into a more detailed answer [Dev]

Answer 8

ldeas such.as:

Falling/lowdeathratas/less die [1}

Longer life expectancy/more elderly people [1]

More doctors/more medicines/hospitals/vaccinations [1]

Falling infant mortality/more babies survive/no need to have babies in case some don't survive
[1]

Less babies born/have fewer children/birth rate decreases[1]

People can survive diseases/treat diseases [1]

s This guestionrequires specificinformation about how changes canlead to population
growth, itis not enough to say 'better health care' you need to explain how the health care
is better, forexample, increased vaccinations or more doctors

* The question specifically asks about healthcare soitisimportant not to answer with things
like improved 'water supply’ as these are not related to health care

For more help visit our website https://www.exampaperspractice.co.uk/
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Answer 9

ldeas such as:

Unemployment [1] so highrates of crime/poverty [Dev]
Lack of/poor quality housing/squatter settlements/overcrowded houses [1]
High housing/land prices [1]

Lack of land to grow crops [1]

Disease spreads quickly [1]

Pressure on education/lack of schools[1]

Pressure on health care/lack of hospitals etc [1]

Shortage of water[1]

Have to drink polluted water [1]

Cholera or other example [1]

Shortage of food[l]

Lack of electricity/fuelwood [1]

Difficulties of providing good sanitation [1]

Traffic congestion[1]

Air pollution [1] Causes breathing difficulties/asthma [Dev]

e Inthisanswer youwdo not have tergivespecificinformation regardingifanzania your
answerean be based on yourown khewledge'of otherplaceswhieh are
overpopulated

* Youwill have learnt a case of an overpopulated place - you can also use the example
intherevision notes

« QOverpopulation occurs whenthere are more people than the available resources can
support so answers should referto any issue that the lack of resources may cause

e Theanswercanbeinbseparate points or a couple of points which are then
developed

For more help visit our website https://www.exampaperspractice.co.uk/
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Paper 2

Answer 1

(i)
Indicative content General Guidance

Any four fromideas such as: ¢ Thecommandword ‘'suggest’
requires you to apply your
knowledge and understanding to
outline relevant possible reasons
forbirth rates being higherin
LEDCs such as Angola

e |nthis answeronereasonis
awarded one mark so fourreasons
are required

s |ackofaccesstocontraception

e High child mortality rates

¢ Lackof education for women

e Lack of education about family planning

e Earliermarriages

¢ Dependence onfarming means children are
needed towork

e Cultures/religions might encourage more
children

e Government policies might encourage more
births /largerfamilies

LEDCs have higher birthrates because people might  |Marks 4/4
not be able to get access contraception[1], or
because they haven't been taught about how and why
touse contraception [1]. In LEDCs, people tend to get
married at ayounger age [1] and alack of education for
women may resultin higher birth rates [1].

e Thisisone possible way to answer
this question - your answer does
not have to be exactly the same

¢ Theanswerincludes fourseparate
reasons for higher birthrates

For more help visit our website https://www.exampaperspractice.co.uk/
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(i)
Any fourideas such as: e The commandword
‘explain’ means to give
e Populationis shrinking/decreasing[1] reasons why some
+ Birthrates arelower than deathrates /natural population countries become under—
decrease [1] populated

¢ Lowbirthrates orreason forlow birth rates / few children
born[1]

e Highdeathrates orreason for high deathrates /low life
expectancy [1]

e Little/noimmigration /highrates of emigration/negative
net migration [1]

e Negative physical factorwhich discourages people from
living there e.g. lack of water supplies, extreme
temperatures [1]

¢ Negative human factor which discourages people from
living there e.g. poor transport/cammunications

Model Answer Commentary

A country might become underpopulated if Marks 4/4
there are more deaths than births. [1] This would
mean that the population is decreasing. [1] There
may also be alarge number of people migrating
away fromthe country [1] because the climateis
inhospitable, e.g. too cold [1].

* |nthisanswerone reason
is awarded one mark so
fourreasons are required

¢ Thisis one possible way to answer this
question - your answer does not have to
be exactly the same

# Theanswerincludes four separate
reasons forunderpopulation

For more help visit our website https://www.exampaperspractice.co.uk/
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Answer 2
Indicative content General Guidance
Any fourideas such as: e Thecommandword ‘suggest’

requires you to apply your knowledge
and understanding to outline relevant
possible reasons for life expectancy
being lowerin LEDCs

¢ The answershould containfourideas

» Pooraccessto
medicine/healthcare/vaccinations

e Lack of doctors/nurses

e Foodshortages/malnutrition

e |ackofaccesstocleanwater

e Lackof sanitation/poorhygiene

* Moreinfectious diseases/malaria/cholera

¢ Poor/overcrowded living conditions

e Pooreducation about healthcare/disease/diet

e Lackof pensions for the elderly

Model Answer Commentary

In LEDCs, people are more likely to lack Marks 4/4
access to cleanwater [1] and sanitation [1].
This meansthatwaterberne diseasessuch
as choleraare more common [1]. In addition,
people are more likely to live in poor and
overcrowded housing [1] meaning that
infectious diseases spread more easily.

e [his is one possible way toanswer this
guestion - youranswerdoesnothaveto be
exactly the same

e This answer gives fourreasons forlower life
expectancy

For more help visit our website https://www.exampaperspractice.co.uk/
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